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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1a 248 20.6 6 30 68.7 28.6
1b 245 13.1 4.4 20 65.6 28.3
2a 464 16.8 6.5 30 55.8 53.5
2b 463 11.8 4.4 20 58.8 53.4
3a 516 21.3 5.6 30 70.8 59.5
3b 510 13.4 4.1 20 66.8 58.8
4a 494 20.8 5.5 30 69.2 57
4b 494 13.1 4 20 65.7 57
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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GCE RELIGIOUS STUDIES (A2) 
RS3/PHIL: STUDIES IN PHILOSOPHY OF RELIGION 


 
MARK SCHEME - SUMMER 2015 


 
 
Q.1 (a) Examine how ontological arguments use reason in trying to prove 


God’s existence. [AO1 30] 
 
  Candidates are likely to include some or all of the following, but credit other 


relevant points. 


 The use of a priori arguments in an attempt to show the absurdity of 
atheism. 


 Logical steps in a deductive argument to lead to a conclusion. 


 Anselm: “a  being than which nothing greater can be conceived” must 
exist in reality and not only in mind or this being would lack...and hence 
not be “a being than...”  His 2nd form - necessary existence etc. 


 Descartes’ “supremely perfect being.”  Existence as a 
perfection/attribute/characteristic.  Triangle and valley/mountain 
examples. 


 Plantinga’s ‘possible words,’ ‘maximal greatness’ and ‘maximal 
excellence.’ 


 Malcolm’s analysis, especially of Proslogion 3 ‘impossible or necessary.’ 
 
 
 (b) ‘Reason and revelation are both needed as a basis for religious faith.' 
  Assess this view. [AO2 20] 
 
  Candidates are likely to include some or all of the following, but credit other 


relevant points. 
 
  Agree 


 James and Tennant say both are useful. 


 The 'faith seeking understanding' of, for example Augustine or Anselm.  
Revelation is primary, but reason supports faith.  Anselm already believed 
before presenting the ontological argument. 


 The idealism of Kant - reason and experience give knowledge. 


 Faith should involve both belief-in and belief-that, 'head' and 'heart.' 
 
  Disagree 


 Reason alone is needed, for example, Lewis. 


 Revelation alone is the basis of faith, for example, Kierkegaard's 
commitment cost and certainty, Barth who said that reason was corrupted 
by the Fall and that we can only know about Jesus by means of God 
revealing to us in his Word Jesus, Luther, who said 'that whore reason.' 


 Proof of God's existence is not needed, for example, Plantinga's non-
foundationalism. 


 The strengths of the logical nature of the ontological argument could be 
used.  


 
 
  








Sticky Note

The argument is a priori, not a posteriori. It relies on the analysis of a definition.



Sticky Note

However, the references to deductive and analytic are correct. They always go along with a priori.



Sticky Note

It is important to distinguish between Proslogion Chapter 1(first form) and Proslogion Chapter2(second form).
It is also useful to understand that a predicate can be called a 'perfection' which allows for a fuller understanding of a 'perfect' being.



Sticky Note

It is often this part of the explanation that candidates struggle with; however, this candidate has done it well. 







Sticky Note

The term 'perfections' would also help.



Sticky Note

There needs to be reference made to 'maximally excellent' too.



Sticky Note

This answer is a first class 'A' grade part a).







Sticky Note

Much more could be made of Barth's view, for example, Jesus as God's Word and the implications of this.



Sticky Note

This comment may apply to revelation but better to non-propositional.



Sticky Note

It is vital, however, to appreciate that for Pascal, God is the God of the Bible, the one who reveals, not the God of the philosophers.



Sticky Note

Here there are many points raised but they are not developed.







Sticky Note

It is with Kierkegaard here that we see the kind of development that would be expected.



Sticky Note

Equally here, there is more than just a passing reference to reason or revelation.



Sticky Note

Overall an 'A' grade essay which as a script suffered due to the second question answered.












2 








3 








(1348-03)


1.	 (a)	 Examine how ontological arguments use reason in trying to prove God’s existence.	 [30]


	 (b)	 ‘Reason and revelation are both needed as a basis for religious faith.’
		  Assess this view.	 [20]
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Q.2 (a) Explain the concept of religious language as a ‘language game.’ 
    [AO1 30] 
 
  Candidates are likely to include some or all of the following, but credit other 


relevant points. 


 The function of religious language as being non-cognitive. 


 Religious language as being particular to the ‘religious form of life.’ 


 Wittgenstein’s ‘look and see’ how it is being used. 


 Language as a tool. 


 Wittgenstein’s examples, such as ‘soul.’ 


 D.Z Phillips’ examples of belief in God, prayer and eternal life. 


 Key idea - what do people really intend when they say or do something? 
 
 (b) ‘The concept of a ‘language game’ solves the problems of religious 


language.’ 
  Assess this view. [AO2 20] 
 
  Candidates are likely to include some or all of the following, but credit other 


relevant points. 
 
  Agree 


 Non-cognitive function overcomes the problem of ‘proof.’ 


 Language is a game which can only be understood when playing it. 


 Religious language cannot be criticised from the outside. 


 Those outside the game do not have enough knowledge. 


 Religious language is part of the dynamic whole of Religion and poses no 
problem when seen as such. 


 
  Disagree 


 Religious language may be best understood by those outside religion. 


 Religious language cannot be kept on its own as believers are ‘in’ other 
language games too. 


 It does not allow for religions to share in any dialogue as they are all 
isolated. 


 Concepts used in religion such as myth and symbol are used and 
understood outside the Religious context. 


 Surely believers intend their claims to be taken cognitively and not non-
cognitively. 


 
  








Sticky Note

A brief reference to his change of thought is useful.



Sticky Note

This paragraph has many key words or phrases in it. It is exemplified by the football game. However, it does not get to a full explanation as to the function of rules for example.



Sticky Note

An explanation of 'meaningful' is needed as would the idea that language is non-cognitive (which would also need an explanation).



Sticky Note

Contrasting the religious game with the scientific one is what is needed. The candidate needed to look at different rules and how they function.
Also, key aspects such as 'engine idling' and 'religion going on holiday' are missing.







Sticky Note

Phillips' examples would be pertinent here, such as belief in God, immortality and prayer.



Sticky Note

This is part b) assessment.



Sticky Note

This is 'partially adequate.'



Sticky Note

...exhibit fideism or be called a fideist.



Sticky Note

Introducing such terms as equivocal allows the candidate to show other things that they know. 







Sticky Note

The question is not about myth, symbol analogy or anything other than language games.



Sticky Note

Credit is not given for the evaluation of analogy. The candidate has wasted so much time on things that are not being examined.
















Sticky Note

This starts in a fairly promising fashion with some appropriate terminology used.



Sticky Note

The candidate needs to explain 'form of life' as opposed to just stating the phrase.



Sticky Note

An explanation of 'meaningful' would be most useful here, that is it 'conveys information.'



Sticky Note

What is an anti-realist? This shows the candidate can remember some phrases but lacks understanding.



Sticky Note

What does non-cognitive mean? They need to say that the intention is not to convey facts but that for Wittgenstein it is still meaningful.



Sticky Note

Misunderstanding is then shown by the information becoming confused.







Sticky Note

Again a lack of understanding shows that the candidate's knowledge is limited to 'basic or low level of accuracy.'







Sticky Note

It is hard for the examiner to decipher what the candidate means here.



Sticky Note

Confusion with other aspects of religious language is apparent showing that there is 'some attempt...in a simple way.'



Sticky Note

There are glimpses of aspects of key ideas here. It would be a good idea for candidates to learn two or three evaluative points on each side.



Sticky Note

This is information that fits better with analogy.



Sticky Note

Again this information does refer to the problems of religious language but it does not relate in particular to language games.







DEllerton-Harris

Sticky Note

It would be justifiable to make some reference to other solutions to the problems in the conclusion. However, it would not form the whole body of it. 












Sticky Note

It is not good style to do question b before question a.



Sticky Note

The examples given shows that this candidate was hoping for a question on analogy. So far, there is very little on language games.



Sticky Note

References can legitimately be made to equivocal and univocal but in this case they are more angled towards a different question.



Sticky Note

An explanation of 'meaningful' and non-cognitive language is expected.







Sticky Note

As said before, this candidate has spent too much time on irrelevant material. They can be given no more than 'some attempt...'







Sticky Note

From the outset this question is missing the usual starters such as 'rules', 'form of life' etc. that it is evident the candidate is struggling.



Sticky Note

Again, an example which is not relevant to language games shows the candidate is unsure.







Sticky Note

The lack of revision and substance allows only for an 'outline answer.'
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2. (a)	 Explain the concept of religious language as a ‘language game’. [30]


(b)	 ‘The concept of a ‘language game’ solves the problems of religious language.’
Assess this view.	 [20]
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Q.3 (a) Examine reasons for not believing in miracles. [AO1 30] 
 
  Candidates are likely to include some or all of the following, but credit other 


relevant points. 


 Miracles have so many definitions that their occurrence is purely a 
subjective matter. 


 As Hick says, if a miracle is defined as a break in the law of nature we can 
declare 'a priori' that they so not happen as laws of nature do not break. 


 What is labelled as a 'miracle' can be explained by 'coincidence'. 


 Hume's criticisms are all pertinent here. 


 The design and cosmological arguments present an ordered and regular 
universe.  Miracles would throw these arguments into disarray. 


 A God who can act but does not is 'not worthy of worship.' 
 
 
 (b) ‘Challenges to belief in miracles are unconvincing.’ 
  Assess this view. [AO2 20] 
 
  Candidates are likely to include some or all of the following, but credit other 


relevant points. 
 
  Agree 


 Candidates may comment on the unconvincing nature of specific 
arguments against miracles made by scholars. 


 Swinburne’s principles of credulity and testimony. 


 Contemporary and credible claims to miracles. 


 ‘Laws of nature’ only cover past experience and are not set in stone or it 
may be valid to claim a ‘break in the law of nature’ if an unusual event 
happens, which defies all of our logic. 


 Evidence from holy books. 


 God is an interventionist God. 


 Differing definitions allow for a miracle depending on one’s definition. 
 
  Disagree 


 Candidates may comment on the convincing nature of specific arguments 
against miracles made by scholars. 


 A God who acts here but not there, is not worthy of worship. 


 ‘Miracles’ can be shown to be pointless, a coincidence, fraudulent etc. 


 Some definitions assume an agent that can cause them. 


 Human free-will is usurped by them. 


 An apparent breach in the ‘law of nature’ is rightly incorporated into the 
‘new’ ‘law of nature.’ 


 
  








Sticky Note

This question can be answered in breadth or depth. Most who referred to Hume examined a variety of his reasons. One would expect more than Hume at A2 which this candidate did.



Sticky Note

The wise man proportions belief to evidence. Some explanation of this would then be useful with references to the amount of evidence for laws of nature.







Sticky Note

The candidate would have done well to suggest some miracle claims that could cancel each other out.



Sticky Note

It is vital that the candidate understands the difference between the demands of parts a) and b). This material is clearly evaluative.



Sticky Note

He did say they did not occur as is related later on. The reference should be to an 'interventionist' God. An explanation would also be appropriate. 







Sticky Note

They are not 'merely' coincidences to the exclusion of the miraculous element. They can be interpreted religiously as a 'sign.'







Sticky Note

A grade 'A' part A.



Sticky Note

The candidate is analysing and is using evaluative wording.







Sticky Note

Personal thoughts are used rather than just the views of text books and other scholars. It is also referring to specifics mentioned in part a).







Sticky Note

It is useful for revision to include the structure in part b) that has already been used in part a).







Sticky Note

This was comprehensive as a conclusion. 'A' quality.












Sticky Note

Interposition.



Sticky Note

An interventionist God is mentioned without an explanation and the candidate moves on to something else.



Sticky Note

One could possibly suggest that a claim to a miracle may 'die the death by a thousand qualifications' but this is not the main thrust of Flew's points.



Sticky Note

The candidate is using a range of philosophers with appropriate exemplification.



Sticky Note

This information on Wiles would have fitted with the earlier mention of an interventionist God. 







Sticky Note

Reference back to the question shows good technique.



Sticky Note

Deism in fact does not suggest an interventionist God. In Deism God cannot break the rules that God has made.



Sticky Note

Again this shows a misunderstanding of Deism.







Sticky Note

Aquinas' definitions themselves did not get credit but problems with them do.







Sticky Note

It is vital that the part b) does not simply become a repeat of the part a) information. That would not get double credit. Simply adding evaluative phrases at the start of a paragraph will help, for example, 'I think this is a good point because....'







Sticky Note

This begins in a promising fashion with assessment but then it trails into information befitting part a) on 'definitions of miracles.'



Sticky Note

The conclusion salvaged a Level 4 as the candidate understood the main point of the issue and presented an argument which is partially supported.
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3. (a)	 Examine reasons for not believing in miracles. [30]


(b)	 ‘Challenges to belief in miracles are unconvincing.’
Assess this view.	 [20]
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